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Questionl:-Consider the following events of second world war;

i. Yalta Conference

ii. Teheran Meeting

iii. Casabalanca Conference

iv. Dumbarton Oaks Conference

Select the correct chronological order of events from the codes given below:

OB éomodaogci B8 YN a;’ﬁé&&?ﬁ%”ﬁb J0ned
i. 030 3PCYS
e3 &
ii. e3o0on° 323
iii. ToRALIY0BD Sdoe/e%”ai
iv. @oroe3rm® &g° ﬁag(‘)’a‘;
B%:3083° 1 K003 FoLIRITRIE @:pdgp 39N VB OE FRCE® YR esai)&:xné

A:-iii, i, v,
B:-ii, iv, iii, i
C:-iv, iii, i, i
D:-i, iv, iii, ii

Correct Answer:- Option-A



Question2:-With reference to the reign of Marthanda Varma, consider the following
statements;

i. Marthanda Varma is considered as the founder of Modern Travancore

ii. The famous Thrissur Pooram was instituted during his reign

iii. One of the important acts of Marthanda Varma was Thripadidanam

Which of the above statements is/are correct?

RIVTOF 0B RO D es%?zéﬁ 20200203, B8 FYNS éce‘?ﬁr{@.;’go 20ned
i. S0oIF 0B 553?&@) 30T 0VN0TROT mg’oﬁ QOB BONFHIINT
i, B JBRTF FHoo Py 950 BIFLY FIDIL0D

iii. B5eFoF 0B JTOFB FFVD FOLFNYY 2,000, 3TONWITVO
S0edT BeFINYY 0350330 FO03NGS ?

A:-i &ii only
i & i So98

B:-ii & iii only
i & i 093,

C:-i &iii only
i & iii 008

D:-i, ii & iii
i, i & iii

Correct Answer:- Option-C

Question3:-Consider the following statements about the Lahore Session of the
Indian National Congress;

i. Jawaharlal Nehru was elected as the President of the Indian National Congress.
ii. This congress decided to celebrate 26 January as "Independence Day" all over
the country.

iii. Gandhiji decided to launch the Non-Co-operation Movment

Choose the incorrect option :

Q03030 TR 03 BIQJA° B UBRC0¢ R[CBTE 3OO B8 FYNS ée@?ﬁmfgo 0ned
. WSBO FE0O 9300 LIV3e03 ToZ 03 ToQri=° estggoaﬂ €303,03596300

ii. B8 %aqrja° WSO 26 @Qg deémgos "mﬁéogé AR" D00 3230300 APE DA

iii. Meodes w3BTT zseofom?odogo KT 0PRV APEDAETO

30 esoi%odogp 302 :

A:-i &ii only
i & i So98

B:-iii only
i S508

C:-i &iii only

i & i 33,



D:-i, ii & iii
i, ii & i
Correct Answer:- Option-B

Question4:-Which of the following statement is/are correct about the revolt of
18577

i. According to V.D. Savarkar, revolt of 1857 was the "First War of India's
Independence".

ii. Bahadur Shah Il was the Mughal emperor during the revolt of 1857

iii. Doctrine of Lapse was one among the causes of the revolt.

iv. Lord Cornwallis was the Governor General during the revolt

18573 @ortody 303 88 LNT 0d0os Bewd/BewIned 3DAIoN:S?
. .8. Foe0° Z5o0, 18573 Bort "3203a B0 © 59808, Hongsy"
ii. ®EP0° @ Il 18570 orfodd 353003089 S.05°e° 3zmde 0deNgso
iii. @orfod> TeCeNYY @FR® esp® %)a#;\’afaca’ WO
iv. dort 3R>0dBY waw’s Fomes Ix° NBTE O° wWROL® SNFTH
A:-Only (i) and (iv)
3R (i) S0 (iv)
B:-(i), (ii) and (iii)
(i), (i) 03> (iii)
C:-Only (iv)
(iv) &9

A

:-Only (ii) and (iv)
(ii) =03 (iv)

Correct Answer:- Option-B

Question5:-Expand NATO
votdee T HFOA

A:-North Atlantic Territories Organization
VI3’ e98390835° £30e3000F° BriFHeBD®

B:-North Asian Treaty Organization
PIB’E DA0IR® el esnegIe3n®

C:-North Alliance Treaty Organization
PRt e9e5,0000° g3eed esrie e’

D:-North Atlantic Treaty Organization
VI e9E390835° f30t3 esnE T IS0

Correct Answer:- Option-D

Question6:-Which of the following statement is/are correct about European
contributions in Kerala?

(i) Portuguese established printing press in Kerala.

(ii) British were the first Euriopeans to land in Kerala.

(iii) First authentic book in Malayalam Grammar was prepared by Hermann Gundert.



(iv) Malabar Manual was published by VankRheede

BeOYBY 0300TBREH03N® BRBONRNY w1 B8 TIND advess BeFPERLD FO03INES?

i BOYRY FpewreNes® BB 003D TIDABTD

i, 3e098,0098 JBE ahBHEI0HFCO LR

lii. Boeoodno Dpdan ST VRTI PFTITO BROFR® MO0BESF TSRO
iv. SOowe0° FABOLTP) e’ Deid & Te32ges

A:-Only (i) and (iv)
3e30 | P iv IR

B:-Only (ii) and (iv)
FeRO i 0D iv Ioeg

C:-Only (i) and (iii)
e30 | 3 iii S0g

D:-Only (ii) and (iii)
FeRO i S0 il Bog,
Correct Answer:- Option-C

Question7:-Consider the following statements :

1. Tropical cyclones always move from East to West

2. If they cross 20° Latitude they recurve and are more destructive
3. Tropical cyclones originate over warm tropical oceans

Which of the statements given above is/are correct?

B4 SN BePBnvieh HOMed

1. ouE=Be0E BoRBRCIBRE) adrmarien BEBE BB B8RE, BORIZ:S

2. e 202 wgoosSHH WotEY ) FCUTIRYS 3> B DeBTORNIIS
3. UL BoBRROVILL BT UFSOODE FNONE Boees BoLFAYHZS
DeROVS BePENYY 3T FD0IPNRS?

A:-1 only
1 358

B:-3 only
3 3598,
C:-1 and 3 only
1 303> 3 I3,
D:-1,2 and 3
1,2 3033
Correct Answer:- Option-D

Question8:-Which one of the following is the antecedent tributory of River
Brahmaputra?
88 FYNTI)NYY 0300330 W, TR, VWO FIE VB BR0309NTS?

A:-Dhansari



(ATVETYe)

B:-Subansiri
O ATV Te)

C:-Manas
STV

D:-Tista

éBm“

Correct Answer:- Option-B

Question9:-Which Indian city has become the first city in the country to get a
processed steel slag (Industrial Waste) road?
0309 90803 BNTR) 30?82»63 emi:ﬁ mgv" (%m@m @ng) d§odo§3 IER Fe3r S3T©

Srd=eNd?

A:-Delhi
Bxd

B:-Ahmadabad
[SEInelartARIag

C:-Surat
APTSE

D:-Chennai

=

Correct Answer:- Option-C

Question10:-Which of the following characteristics is correct about Troposphere?

i. Itisthe densset atmospheric layer

ii. The zone separating the troposphere from stratosphere is known as stratopause
iii. This is the most important layer for all biological activity

iv. This layer absorbs ultra -violet radiations and shields life on the earth from
intense, harmful form of energy?

e39.¢30e30300° 207§ B8 FYNT 0dses NogoFearieh FD03TNES?

i ®§03 d%jaa'ad POTIRT AT BB T2NO3ING.

i, D030BOoBODOT £33 C3PCA0I0° esgb WeD BRI doo&od@ R E3RCTIR DHOTV
F30NROZE

iii. 9B Y DT 23T eagoé BRVDDE BETHNTS

iv S8 3IBE0F) Seovades ::)%deomfgo éocaéJagbgc‘s’ 302> 3e0d Boeds z:‘iedsgu 3CZ D3,
BONTICT BFOWOW TIROZT

-0

A:-Only (i) & (iii)
Feo (i) S0 (iii)

B:-Only (ii) & (iv)
Feo (ii) =03 (iv)

C:-Only (iii) & (iv)



Feo (iii) R0 (iv)

D:-All of the above (i), (ii), (iii) & (iv)
S0edB a0 (i), (ii), (iii), (iv)

Correct Answer:- Option-A

Questionl1:-Consider the following statements:

Statement A : Western coastal plains are an example of submerged coastal plain
Statement B : Western coastal plains provide natural conditions for development of
ports and harbours

Select the correct answer :

88 3YNS écﬁ?ﬁrﬂ@égb 20nedd

BT A 1 B33 00 2 0DeUND BYONCOS TOSY 203001 YVBIBO T3N3
®CYT B : 5%&) FORY 2 030OVN 2 0BTONY eaz;’)dd&oﬁ SANET 382»@3&3’5{53 W NROZS
20030903 emgddgb ©303), 358

A:-Statement A is correct, B is incorrect
BeYF A 200350033, B 3@0@63

B:-Statement B is correct, A is incorrect
HeYF B 30035003, A Smwﬁz:‘s’

C:-Both Statements are incorrect
NOBSH BTN 3@@?\6

D:-Both statements are correct and Statement B explains Statement A
OB HCYINLD 3003ING S0 Hewd B, Hews Aodo§b DS0ROITI

Correct Answer:- Option-D

Question12:-Which of the following was declared as Wildlife sanctuary on July 3,
20207
YN NED odoa:gdgb %0, 3, 2020 Jomo dgizﬁcz) eaz,:icﬁoadsa? DOTD FUCAIUINGS?

A:-Kurinjimala Sanctuary
FOO0O® eaz,mi)wez?

B:-Malabar Wildlife Sanctuary
S0O2JI0° égszﬁe:) eaz,dodoadsa?

C:-Karimpuzha Wildlife Sanctuary
TOOR)Y sgzﬁeéb eaz,:iaimdsg)

D:-Kottiyoor Wildlife Sanctuary
me%somfado ﬁgizﬂe::) m:iaimd%a

Correct Answer:- Option-C
Question13:-How GST makes exports more competitive?
GST d@mfgo xen ézgo nggﬁmﬁmgd?

A:-By exempting exports from GST
d@mfgo GST 0008 AP0V ACBIS ST



B:-By imposing lower rate of GST on exports
og)nY oedd 3RD BOT GST PRI Foews

C:-By imposing zero rate of GST on exports
og)n¥ Soedd GST ado a/agi wddgp ARI S0NOT

D:-By applying GST on the basis of value of exports
Og) S5P96 50 Soe8 GST ©FORT S0

Correct Answer:- Option-C
Question14:-ldentify the wrong statement/statements:
338 £ce?€/£e@96mf§o nOCL3Y.

A:-SATH-E is an educational project
SATH-E 2080 83eds odecwmadoonds

B:-RBI had ownership of shares in commercial bank/banks prior to 2007
RBI 2007 T Ssa@en msﬁzg 20T /23905° n¥Y Keoony doae‘)esgégb B0

C:-GST is a solution for cascading effect
Ea&)—"eéon‘? acfog‘ R GST 2030 B30TV NG

D:-Being a constitutionally mandated body, the recommendations of Finance
Commissions are binding on central government
T0DPINTRIN ﬁmaodomﬂdow R0x0359NCORYB OO, FCOT, FTOFTTW HEITIRD 303 0eNTY

8pa0Roned WFHNCOZTS

Correct Answer:- Option-D

Questionl15:-Which of the following is/are rightly paired?

i. Vth Five Year Plan - Removal of Poverty and Self Reliance

ii. XIth Five Year Plan - Inclusive Growth

iii. Xllth Five Year Plan - Faster, Sustainable and more Inclusive Growth

8% FINSI)NPY 030eys0 800N eeBrernNcs
. 5d¢ Borsmaars odeews WEIT 0P FBOWS VD0
i, 118¢ F0WNoAET 03RC%R - 903N 3 WIS
iii. 128 Boedzvodes adnens-Serizen, BT [oZd B30 903re 3 Wv3edt
A:-Only (i) and (ii)
i 0 ii g
B:-Only (ii) and (iii)
il 02 i Boeg
C:-Only (iii)
i Soog
D:-All of these
RNV
Correct Answer:- Option-D

Questionl16:-Find out the incorrect observation regarding the SDG Index 20-21:



SDG 3205 20-21 T 27} 35 Degriodagh Somo%B0D

A:-The composite score of Indian Economy has imporved from 60 to 66
203e0d 3RET303 30030023 51/9@0‘ 60 dow 66 %E’DC,)D@%O"

B:-Kerala, Himachal Pradesh and Tamil Nadu have scored above national score
B0, &R0 Fr3ed & ILODAE) 0o 0> ZC0° NOZ i 008 NP

C:-UT of Ladakh failed to attain the national score
OB & 0300eE30300 oa&codo éﬁjaeo‘ N3 HOBOYRS

D:-Bihar and Jharkhand lag behind the national score
Va0 S0P 23DF 0T T 00 30€0° NOZ L0BOVHES

Correct Answer:- Option-C
Questionl7:-Bandhan Bank is a
(Alelar0d za%oa6 ealel

A:-New Private Sector Bank
BRR B3N SO0 zaaaoa‘

B:-Non - Banking Financial Institution

2 D9

2I0BON® YT HEITIAD KO

C:-Payment bank
D033 2390T°

D:-Small Finance Bank
3§Q BEITIR 2390T°

Correct Answer:- Option-A
Questionl18:-The SDF operationalized by RBI on 8th April 2022
SDF @Qg RBI 8&¢ ¢ 20223000 39030 NSRAPA3)

A:-Introduced a new window of central bank lending
geos 2I90T° FOO ACBIS BRR é:)oz&aeaﬁgb S023090R0DID

B:-Replaced the Fixed Reverse Repo Rate as the floor of LAF
X0 OF°E BEpe wdsgp LAF 8 80303 23 &003038500903)

C:-Contributes to a fund created for Sustainable development
RS ea?,,‘bsda@mﬁ SUROB APN FRBEIN ACEeD

D:-Proposed increase in repo rate by 10 basis points in the next quarter to
check inflation
$89650%5)(55§b 203cdzen moawgamzwg 330 B30 10 23e2x° Ho000e3¢ N ég@e’

Correct Answer:- Option-B

Questionl19:-IN the Constitution of India, Promotion of international peace and
security is included in the
03B ROIPIVE ) @oém&eab 3908 o> IFI0d gmddﬁb 2e030NT.



A:-Fundamental duties
SoR©IR3 ﬁngmfo

B:-Ninth Schedule
WOZVC SevaTed,

C:-Preamble to the constitution
B0QBIVE DT

D:-Directive Principles of state policy
0% 030 Ve 33 ng’o
Correct Answer:- Option-D

Question20:-Which of the following bills must be passed by each House of the
Indian Parliament separately, by special majority?
88 NS 03003 mﬂfadﬁ@ 03030 3033 T3 BT ga"a@ﬁmﬂ QD3CR WIS

90NeF0T3eB?

A:-Constitution amendment bill
Fle ATV A] égo:-’oé ROBNT

B:-Money bill
BEIT VAT
C:-Ordinary bill
mmagi SORNRT
D:-Finance bill
BDEITIRD ROAATS
Correct Answer:- Option-A

Question21:-The resolution for removing the Vice President of India can be moved
in the
203 Moa@ﬁéab@ 1A ANE D O] &)sas‘ojodgo BSODCOZYEO

A:-Either House of the Indian Parliament
Q03e0d HORSW 0dIo)Te AID

B:-Lok Sabha alone
VR GATARNDY:S

C:-Rajya Sabha alone
0% %3 908

D:-Joint sitting of parliament
FORS 25083 23

Correct Answer:- Option-C
Question22:-Who appoints the Chairman of Union Public Service Commission?
030RR0N® BT FDFR° FAORD® eﬂcggdgaoimdo ReRVT BIeBOSIT?

A:-Vice President of India
W03T VD 03553



B:-Chief Justice of India
W03 m%b mzso;mm&-

C:-President of India
29030 oa@ﬁé

D:-Speaker of Lok Sabha
ST FIATRI OV AeTO°®

Correct Answer:- Option-C

Question23:-All revenues received by the Union Government by way of taxes and
other receipts are credited to the
30riried S0P 930 TAEANY BoROT TR FTFTR) FER DY BTo0LNYR> BY ROZNT.

A:-Consolidated fund of India
L03B 5@0&5&3‘@6 ROTE

B:-Deposits and advances fund of India
Q03E BeSed 03 Fwonad Y

C:-Public account
TONE BAT 3

D:-Contigency fund of India
PA0IB BTIT A

Correct Answer:- Option-A

Question24:-Indian first food museum has been inaugurated by the Union Minister
Shri Piyush Goyal in
P0SRE ST BH0 [0 FOTHIOOLBF) Feog Tl e Hodvea rteeode® vty

IY YUTESABTO

A:-Punjab
0T3S

B:-Tamil Nadu
SAFIVBEO

C:-Kerala
FcoY

D:-Gujarath
nOWoS®

Correct Answer:- Option-B

Question25:-Article 20 of the Indian Constitution provides for protection in respect
of conviction of offences includes :

(a) No person shall be convicted of any offence except for violation of a law in force
at the time of commission of the Act charged as an offence

(b) No person shall be prosecuted and punished for the same offence more than
once

(c) No person shall be arrested or detained in custody without producting him
beforethe nearest magistrate within a period ot twenty - four hours of such arrest



(d) No person accused of any offence shall be compelled to be witness against
himself
Code

%790:3¢03> F0DPRE 20 e SR WBTIPHLD 83 Fow 0PI TFFOLTO 2B NRIIT

. odnFede FF0F> adRF)Te BBTIGTN SRR Howd SONeIRITEE, R0 25000LPTIT
TORRAIE  GUYOFTOFO BATIBBA

. adnF)ue F3odgo 2.0te SBOIGTN 2053308 B 230D M5OI 2¥IBRLWATHO S0P
2l I elAN)

A 903 2)0GRE FFIILD nobdne esRodedt adn)de FFodogh B0 S eest Sod
BOCIBBHT 20 0PRIMINE) W90 2) OGS HBeITEO

B. odR)ce OTTIGE BTIBE FIoFH IF A0V FoFAIPATED 2:FY0VFUIRFHBY

2,0, 2303 B
C:-(b) (c) and (d)
9, 2 03> B

Correct Answer:- Option-A

Question26:-The speaker of Lok Sabha can resign from his office before the
completion of his tenure by writing resignation addressing to whom
Seesa3odd ALTO® 35@3 e9RTIC 03 gcﬁs‘ojo S0 035001 oademﬁoodogu 20803003

SoROT 3%3 B30 D3m0 QB BOTY

A:-President
TIZOO
)

B:-Chairman of Rajya Sabha
03223030 953800
?8‘; oS

C:-Prime Minister
goos 2008

D:-Deputy Speaker of Lok Sabha
SReTR3030 emﬁz,weﬁoe

Correct Answer:- Option-D

Question27:-Which of the following rights come within the domain of Article 21 of
the Indian Constitution?

(a) Right to Privacy

(b) Right to Shelter

(c) Right to Livelihood



(d) Right to claim compensation
Code :

B8 FPNT 03003 agomb 99080030 F0DPRE 218e B Bedoen® B 23033
. r?a%-o’a"ob 5?3

Q. s8z3033 ago

2. VeSBRCH03T a?

Q. 38mdw§b P[00 SIOV) 3?

Correct Answer:- Option-D

Question28:-Among the following, one is not the Chairperson of the Kerala Women
Commission. Which one?
8% FYNBRICY 2T0 FOY Fodvo esodoerd eacggdg

A:-Sugatha Kumari
NS BOSI0

B:-Justice D Sreedevi
DopdrEae3e B Gersed

C:-Nafeesath Beevi
VRS Ve

D:-P. Satheedevi
. B3CTCD

Correct Answer:- Option-C

Question29:-Which of the following statement is/are correct about GST Council?

(i) Article 279 A related to the creation of GST council

(if) Union Fiannce Minister is the Chairman of GST Council

(iii) Chief Ministers are the members of GST Council

(iv) Chairperson, Central Board of Excise and Customs non permanent invitee of the
council

GST @Qﬂcﬁ 303D 8% FYN® 0300x BCYF 2003539NT
i. GST @Qp‘ 0N 3020020 SedS 279A
ii. 6eog DT B8R0V GST @&?\,Us ] eacggoaﬁcomd



iii. m)%):nqgmb GST 60&’)006 0] 3&%03?\9356
iv. eacggdo, BeoReady )Tl S0P T8 BO0EF0L F9I3 8HINITY
A:-(i), (ii) are correct
i, ii 0035903
B:-(i), (ii), (iv) are correct
i, ii, iv 30035003
C:-(i) (ii), (iii) are correct
i, ii, iii D030eND
D:-All are correct
Y3 3D03NT
Correct Answer:- Option-A
Question30:-The Lifetime Achievement Award winner of the 27th edition of IFFK
IFFK 03> 27 & e553803) 2333508 73S 583 desed

A:-Firas Khoury
DTIRE 8390

B:-Bela Tarr
23eer &390

C:-Tayfun Pirselimoglu
t3epn® R DB

D:-Mammooty
Soxo0ed
& &3

Correct Answer:- Option-B

Question31:-Among the following, which one is not correct?
8 FINSIHNYY 03000 #003INY?

A:-Domestic Violence Act - 2005
F983000T 0792390 To0T - 2005

B:-Demonitisation - 2016
ém&%ﬁeéa“ - 2016

C:-GST Council 2015
GST @‘:,)5’6 2015

D:-First Bank Nationalization - 1969
VA A19) mgoas oa&eajsa 1969

Correct Answer:- Option-C

Question32:-Among the following, what is/are the Constitutional bodies?
(i) Central Vigilance Commission

(i1) Election Commission

(iii) National Human Rights Commission

(iv) Finance Commission



8% FINSI)NPD H00dGFT ﬁogmb 0300)R)?
i 6@0@} zsarj)é esodeen
ii. oMo esodeen
iii. oag%deod) ROVRN $§omf esodeen
iV. ®£T sodeen
A:-(i), (ii) and (iv)
i, i S iv
B:-(i), (iii) and (iv)
i, il S0 iv
C:-(ii) only
ii 598
D:-(ii) and (iv)
i 02> iv
Correct Answer:- Option-D

Question33:-Among the following, which are the two correct?

(i) India after Gandhi - Ram Chandra Guha

(ii) Turning points - Droupadi Murmu

(iii) Development as Freedom - Amartya Sen

(iv) The Indian Constitution Cornerstone of a Nation - Dr. B.R. Ambedkar

BINDINYY 0B 3003w es03)7ied 0d5)s)?

i. Qo&adr ea?o“ arlelA) - D003, MOHd
i, e3F 0N Ho0o0e3* - OB F0R0E
iii. BI3O0es® 7 @30 - wﬁogr;ﬁea‘

iv. D 2080 Ea(\’)wé;sm:-’m‘ TORE O 8° D BeRD® - TWo. D.es08. eaozSecfo‘
A:-(i), (ii)

Correct Answer:- Option-C

Question34:-Myocardial infarction is due to
003 eTRE 0doe® ‘amqgm“ IO €9

A:-Aneurysm
eagha@ﬁo

B:-Arteriosclerosis
esm,sma)ﬁa@eg



C:-Atheromatous plaques
OFSRCDIPITT ¢ 1D

D:-Coronary thrombosis
F3RCTO E;Sjozi/ae?os‘

Correct Answer:- Option-D
Question35:-Match List -1 with List - 1l

List - 1 List - 1l

(a) Phylloquinone (i) Scurvy

(b) Ergocalciferol (ii) Xerophthalmia
(c) Ascorbic acid (iii) Osteomalacia
(d) Retinol (iv) Hemorrhage

Choose the correct answer from the options given below :

D31 2R3 Te32 ond Be0BA
»ed1 we3-2

(a) &eifacgaifaea‘ (i) 38)?

(b) orteesmdBooe* (ii) zﬁdJac 0359

(C) &50eDFF & (iii) ea,gdoifacméeéoi)ef

(d) Dedmees® (iv) >3oTees

B3NS 0doess sadyiPon 3D0dRE eVICTH> DA
A:-(a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)
B:-(a)-(iv), (b)-(iii), (c)-(i), (d)-(ii)
C:-(a)-(iv), (b)-(iii), (c)-(ii), (d)-(i)

D:-(a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)
Correct Answer:- Option-B

Question36:-Which of the following agent is/are cause STD?
(a) Treponema pallidum

(b) Bordetella pertussis

(c) Shigella dysenteriae

(d) Neisseria gonorrhoeae

Choose the correct answer from the options given below:

FYNT 0303 D30e3® STD R 580N
D, HBpedxie GBI

WRBEF 30 HeF AR

2 8ng BFoesde

8.  FAedadr r1emdecsk0d

&

A:-(a) and (d) only
D 0 B B0,

A



Correct Answer:- Option-A

Question37:-Monascus purpureus produce
SRmFE* FROODF® HUFINRZH

A:-Clot buster
mmés“ zogo‘

B:-Pectinase
éga"ess

C:-Stains

=2
3,

D:-Cyclosporin A
RBRLRACOD®

Correct Answer:- Option-C

Question38:-Which of the following are true for Moon moving around Earth? Assume
that the system is isolated?

(i) Sum of kinetic energy and gravitational potential energy is negative and
gravitational potential energy varies inversely as the distance of Moon from Earth
(ii) Conservation of areal velocity is a direct consequences of constancy of angular
momentum

(iii) Acceleration is inversely proportional to the distance between Moon and Earth
and is directed towards Earth

(iv) Time rate of change of velocity of Moon is inversely related to the square of the
distance of Moon from Earth and is in the direction along the tangent to the orbit of
Moon

Wog R R0 70F WARTFHE, B8 FINTYHNYY 035eFB0 A28 FIF 050 NR&HABAYD.

(i) ¥R 38 S MCLTITRE T B0z B0 [eIsY) 3 FFE FP

O0OZaFAF F5030NT. F0ggess 3E0dn Z1AN0VE ¥oZ T BWe0n0d Hddecimen wEeRnH3H
(i) F3ed3 Serss FooZEB0dN Feedeodd AWI0d Bed BOHIBOHINT

(iii)  SeriIgemodon wom 03 A0 BEIDT ©030T, ISRCR BRBITISEPCIZE =030
R0 TR AT BIYBEOZT,

(iv) 2¥o3® Fen WBLSFD IR0 W) A0 0TB WOCT JTie S, JeeRoTN
R0 0BT S0P WoB® TN 33T gz BIVYT

A:-(i) & (iii)
B:-(i) & (ii)



C:-(ii) & (iv)
D:-(ii) & (iii)
Correct Answer:- Option-B

Question39:-For a stone fired parallel to the ground from a height H with a velocity
u, which of the following are false?

(i) Horizontal component of velocity varies directly as time

(ii) Vertical component of velocity varies directly as the square of time

(iii) Horizontal component is directly proportional to the square of time

(iv) Vertical component is constant in time

U Bend H 230806 So, 337Hme0dcmaN 1H0E) B0 FYM, S5 SYNRINYY AdRR0 337
(i) Serd 3330 Fe3v) BeOHON 300G S WHENIII

(ii) et @0z 63T BTN 300G SrFEod WBLrHIIS

(ifi) 3R0BO PesTR) FB IriFS, SeCHoN BRITIBICIZH

(iv) @00 ) FR0DBY 20TACIZE

A:-Only (i) & (ii)
Feo (i) & (ii)

B:-Only (i) & (iii)
sese (i) & (iii)
C:-(i), (ii) & (iii)
(i), (i) & (iii)
D:-(i), (ii), (iii) & (iv)
(i), (i), (i) & (iv)
Correct Answer:- Option-D

Question40:-A thin bi-convex lens of focal length f and radius of curvature R is cut
into two equal halves by the plane perpendicular to the principal axis. The two
halves are then joined with their curved surfaces touching each other to form a
system to receive a parallel beam of light. The system is

2RCTOF Sost f Fo 5@30&)@%&5 3V aﬁ-&c’ai mmvsgg SPOTV T ©OWTNCOI
ARIZON0E HOBO B350V nnwaN F30xweNnIZT, B03T TR mﬁﬁ%’?& )N 2NS
oed)rieh FCFO 3B RZBTR0DN Fe0ER0EY W 3:[3000030 3deod§o RB0ID §$§Qb§o
BRIRIIT.

A:-of focal length f that converges light
zS%gb u%»s)a&)ﬁﬁoé DReTer® Sost f

B:-of focal length 2f that diverges light
ﬁ%ib W3R 30oNT Ppeser Sozd 2f

C:-of focal length f/2 to converges light
ZSWQJ u%na)mﬁﬁ.)s RRCTE 303° f/2

D:-of infinite focal length to pass light without deviation
QBOTVIYT 2T T5oARL BTOS TIYERT



Correct Answer:- Option-A

Question41:-Regarding ISRO, which of the following are correct?

(i) Gaganyaan programme is to undertake the demonstration of human spaceflight
to the Low Earth Orbit

(ii) Chandrayan - | launched in 2008 was meant for the scientific investigation of
Moon by Spacecraft

(iii) UNAATI is the initiative to offer training on the building of satellite to
international participants

(iv) The mission accomplished on 26 November 2022 which has enhanced
payloads of ocean colour monitor and sea surface temperature monitor is PSLV-
C54/EOS-06

ISRO 1} 30200203, 8% IFNIJ)NFY 03030 3O?

(i) nnoYE® 5030FFRO) T8N 300D TER BT WoHIFET BT gwéraidgo
gmgogcs

(ii) 200809 eVEIST039E 2308,0300T - | 2BYFB FPTOD BT LB AT IDaSMN
UE B8R0

(iii) UNAATI eaosoag_%codg megdg? emﬁuédgo QE RIS Sweéojogp NVEBOT SVUBTROD)
UNAATIesNG.

(iv) 26 SS0w0f 2022 Torko &3 modmrz&da“obﬁb TR0V . YRV FNOT Seednew® ri@és_lb
BUWROZE. 2§ BEI0° BB FRVZT Boee), 3R BQE30° PSLV-C54/E0S-06 &N,

A:-(i) and (ii) only
(i) & (ii) S508

B:-All the four (i), (ii), (iii) & (iv)
DY T (i), (i), (iii) & (iv)

C:-(ii) and (iii) only
(ii) & (iii) Soeg

D:-(iii) and (iv) only
(iii) & (iv)

Correct Answer:- Option-B
Question42:-Which of the following statements are correct regarding the allotropic
forms of carbon?
(1) The bonding structure of Diamond is a three - dimensional structure while that
of graphite is hexagonal
(2) Buckminsterfullerene is the C60 fullerene twelve hexagons and twenty
pentagons

(3) Thermodynamically, Diamond is less stable compared to graphite
(4) The crystal class of graphite is Dihexagonal pyramidal

QOMPOT 95,03/ T° CRBNYR B02)0PAI 03 B8 FFNT 03093 BeFFMTH FO0IIINES
1. 3B worE Teisadon ety 303506 TLsRodreNg, %w ﬁgozﬁeabmﬁd
2. W30z0° ZB)F OeR® C60 HDen® BFTREL [gowried B0D BFI Botsrin® ried
3. evgwomaN, MyEts® 1} BBV FR00E® FRD ATHNCOITI

4. TR © e IrieD) BB I0E° BN



A:-Both (1) and (2)
1 203 2 a0Bwe

B:-Both (3) and (4)
3 S0 4 0B

C:-Both (2) and (3)
2 303> 3 0B

D:-Both (1) and (3)
1 303 3 0B
Correct Answer:- Option-D

Question43:-The sequence of reactivity among interhalogen compounds is

ROLIT° BEAEHTF F003VFRL BRIDE B33 030FEI0D OROFR

A:-CIFs<BrF:<IF<BrFs
B:-ClIFs<IF»> BrFs<BrF:
C:-BrF: >IF» >BrF: <CIF:
D:-BrFs <CIFs>IF>BrF:
Correct Answer:- Option-A

Question44:-Among the oxoacids of chlorine, perhalic acid of chlorine is the
strongest acid. This may be due to

(i) It has a weak conjugate base

(ii) The charge stabilization is maximum in its conjugate base

(iii) It has the strong conjugate base

(iv) Its conjugate base has stronger attraction for hydrogen ion

8603 58,0000 %° NYY Bae0T IHor OT° :1:3) B VDD BHHINT JE FoT L5NTU TR
i BB BRIE® Z003RCET (\3601@3 B0
ii. 25925° ADeE0eass) BT 0030eE 3YREY) NOFDNCOZH
i, 9B SWOTT 30030C%T a"éodogo B0
V. 9BT 300323 V) 70 e 90351 WD esﬁ-’mu-ﬁodogp B0
A:-Both (ii) and (iii)
i S0 iii B
B:-Both (i) and (ii)
i 0D ii B
C:-Both (ii) and (iv)
i B2 iv OB
D:-Both (iii) and (iv)
iii &0 iv 0B
Correct Answer:- Option-B

Question45:-Which of the following statements are associated with 2021 Nobel
prize in Chemistry?



(i) Itis the development of asymmetric organocatalysis

(ii) Itis awarded to Benjamin List and David W.C. MacMillan

(iii) Itis for the development of a method for genome editing

(iv) Itis awarded to Emmanuelle Charpentier and Jennifer A Doudna

B3 FYNT 00003 BePINY TF030N5RBY 20218 Seede® B 32030001 3020 B00:S
i. RIAN) @smmgm esﬁFdfaﬁazgde‘)%a—s eazp:g)aomﬁ

i 9dg0 WSozdon® O, 303 BAG B Bi9p° WO 1} ABLR00D

i, B0 BERCR® HBEON DFOTE WPF DN

v 850 2853R800300° e 0830300° B0 HIPO° @@, BSOR @S

A:-(i) and (iv)
i 03> iv

B:-(i) and (ii)
i 03 i

C:-(iii) and (iv)
i 3030 iv

D:-(ii) and (iii)
i 03 i

Correct Answer:- Option-B

Question46:-Ormakurippu is the book written by,
WROEBO0R) [00 WIE HFT

A:-Anand
e3oon®

B:-Uroob
OSWE

C:-Muhammed Basheer
ma%ms W 38e0’

D:-Kakkanadan
wgmcs’a‘

Correct Answer:- Option-C

Question47:-Kerala's Folklore Academy is situated at,

BEOYE 30T° SRCT° 95T BSIIROBT

A:-Aranattukara
@dm%baﬁ

B:-Nalanda
NP

C:-Chirakkal



Wozess
3

D:-Chembukkavu
zsozoowﬁ)

Correct Answer:- Option-C
Question48:-"There is just one castle and it is called humanity" - Who propagated
this ideology?

"BeBO 2,060 Backd A S0P BFO BeRaeadd Ho FB0LLRNHZH! - B8 Ae0IIFO0ITTD
F2590 JIRETY?

A:-Narayana Guru
0020308 ROTY

B:-Ayyappan
eaogogas

C:-Chattambi Swamikal
wéédsozf) mamﬁv“

D:-Dr. Ayyathan
0. eaob%ma‘

Correct Answer:- Option-A
Question49:-How many total players are there in Kho-Kho?
Brae-230e BY 2t 23 BNCOTT?

A:-12

B:-8

C:-7

D:-10

Correct Answer:- Option-A

Question50:-Who among these was the only athlete that represented India at the
2022 Beijing Winter Olympics?
2022 T Dezon® Hot3o® wDodz® 3 zpadédgo BEOPAT DT B ew@aRHed 0309007

A:-Arif Khan
e305° Jon®

B:-Neha Ahuja
NeHD 9BILS

C:-Kishore Ratna
33 C0° d§

D:-Shailaja Kumar
éde)zsa BORIO0E

Correct Answer:- Option-A

Question51:-Which of the following is equivalent to sw



8% FINTI)NYY 03o03)B0 510§ FoweNcIZH

A:-5504 5058

B :-550550%0

C:-59451

D:-52055

Correct Answer:- Option-B

Question52:-Amal scored 60% in an examination and Tinu scored 66%. The
difference of their score is 12. How much score did Tinu get?
©S0* FOGobY 60% S0 3w 66% NINETO. 30 F3gs 12. 3w ok 00T SWOTS

A:-132
B:-120
C:-200
D:-188
Correct Answer:- Option-A

Question53:-A 280 m long train travels at a speed of 60 km/hr. How long will it take
to pass a platform of 270m?
280 Qoe eugd den noednt 60 §.20¢ Fend Q) 3R0ZW. 270 Doe H9gs® Hoo’e gy

BABOBR TN dF 730 IriBIBRFZE

A:-30 sec.
30 3503

B:-33 sec.
33 3%0r0

C:-16.2 sec.
16.2 35030

D:-None of these
A)NYY 0dr0ZBP VY
Correct Answer:- Option-B

Question54:-Which among the following is the smallest fraction?
FYNVIHNL) 0o zsg Lon=oNG

A:-2

WOI~y ool

O O w

3
Correct Answer:- Option-D

Question55:-Three numbers are in the ratio 3 : 5 : 7 and their average is 65. Find
the smallest number?

S0 oSN 3151 7 9R0FeSE YOS [P )rie 50RO 65 NG, ZB? 30936Qb§3



TOBO&GEBOD

A:-26
B:-13
C:-39
D:-None of these
A)YNYY 03rZBP VY
Correct Answer:- Option-C

Question56:-What day will be 61 days after today, if today is Monday?
Q0T ZRCRVDITHNG T Q00T 61 DI $030 03003 DT VCOZTS?

A:-Tuesday
S00NYS0

B:-Thursday
gV e o]

C:-Friday
B0TD0

D:-Saturday
300

Correct Answer:- Option-D
Question57:-
1
2,
4,
7

’

o U1 W

, 6
9,10

’

If the pattern is continuing like this, what is the sum of the last numbers in the 20th
and 21st row?

1
2,3
4,5, 6
7,8,9,10
S99 00300 B8 Bed BoBORVRT, 20 o3> 213e 70936 B0 5’03531@’ dfag ag‘-’é\o?
A:-576
B:-625
C:-441
D:-400

Correct Answer:- Option-C

Question58:-Find the angle between the two hands of clock at 7 : 20
nA30300E 0B :w%bmf N ESM 6Jaea’>5§b 7: 206& TOBO&BOD

A:-60°
B:-72°



C:-90°

D:-100°

Correct Answer:- Option-D
Question59:-If 26=4, 84=6, 73=5, then 75=
26=4, 84=6, 73=5, sNgJ, 8030 75=

A:-6

B:-9

C:-5

D:-4

Correct Answer:- Option-A

Question60:-If a queue of students, Ramesh's position is 11th from the front and
17th from the back. How many students are there in the queue?
&m@s—‘ﬁ@e’ 0B 729IIF T, TB0ez® BT FIF=D) &)%o B0008 118¢e 02> &ozggoniom 17:¢

FFB YT, FBROLY 2 JWRE LD [T

A:-26

B:-27

C:-28

D:-29

Correct Answer:- Option-B
Question61:-Those are new designs. They differ

A:-with

B:-for

C:-to

D:-from

Correct Answer:- Option-D
Question62:-1 heard my neighbour

the rest.

Choose the correct infinitive

A:-Singing

B:-Sing

C:-Sang

D:-Song

Correct Answer:- Option-B
Question63:-How would you respond if they

A:-announced

B:-announces

C:-announce

D:-doesn't announce

you the winner?



Correct Answer:- Option-A

Question64:-The doctor, with his nurse, attended the patients

A:-has
B:-was
C:-will
D:-have

Correct Answer:- Option-A

Question65:-The writer says, "My never failing friends are they". Report the
statement.

A:-The writer said that his friends were never failing
B:-The writer says that his friends never fail

C:-The writer says that his never failed friends were they
D:-The writer says that they are his never failing friends
Correct Answer:- Option-D

Question66:-The opposite of very rich

A:-prosperous
B:-affluent
C:-destitute
D:-well-endowed

Correct Answer:- Option-C

Question67:-Sometimes, | to my life in the village.

A:-think back
B:-come in
C:-go out
D:-hold on

Correct Answer:- Option-A

Question68:-Aunt Polly always keeps a good table. It means Aunt Polly

A:-keeps the table neat and clean
B:-provides luxurious food

C:-sets the tableware well and good
D:-decorates the table well

Correct Answer:- Option-B

Question69:-They have planned to a wall

A:-rise
B:-race
C:-rays



D:-raise
Correct Answer:- Option-D

Question70:-Change the word 'create' into a noun by selecting the appropriate
suffix from the given

A:--ion
B:--ve
C:--able
D:--ed
Correct Answer:- Option-A
Question71:-3¢1 AcB NG IBENFY D03 ﬁdﬁg{b RoSo820

A:-3c3e I3
B:-3cdeiexR
C:-dede3ex
D:-3e3¢3¢cx

Correct Answer:- Option-C

Question72:-50@30° 2ct3 S BRESE WR WA, RIS 96 IR 6§5c~$ 200D 5ws§o
esogao 2030200.

A:- D€ BT
B:-w203
C:-QReDT
D:-303%
Correct Answer:- Option-A
Question73:-83 3$NIHNYY oot mmmﬂgp €302 30O

A:-83)
B:-8R%0
C:-3ord
D:-3Q
Correct Answer:- Option-D
Question74:-39303 - H0w ITT HTBLCTFE ﬁwagb esado 2030200
A:-&0303
B:-Q0303



C:-z0303
D:-200503
Correct Answer:- Option-B
Question75:-=3 20 IFE FPort Tezgo rocLxDd
A:-%3T
B:-30%
C:-33®
D:-%339

Correct Answer:- Option-A
Question76:-z3dio - B8 BB F03oE 0 ﬁcmgb 30300 280D

A:-&Qe3O

B:-D2¢e00
C:-89Q¢00
D:-Q9¢e00

Correct Answer:- Option-B
Question77:-ei/ae§36 T8 DT doN@e dJaﬁdg) nOCL3%0

A:-SReT + DT
B:-&Snes + 0T
C:-nez® + 03¢
D:-e3eez + ex)g

Correct Answer:- Option-A
Question78:-'3o%dso PR3N oW BORMED I CRO?

A:-BRR WBITZO STOPRO
B:-33¢ @30

C:-33€ 291 &30

D:-300 €98/ 0630

Correct Answer:- Option-B
Question79:-'evgdeadd’ Ho HRTW FBVTIFE T BRBTFO MOS0

A:-emgdai;)
B:-e030R3® doOT
pr) .& @



C:-e0303)330
D:-0ce0 2N

Correct Answer:- Option-D
Question80:-30ned 2Q 118 OIB s, FOBR0BOZ TW 030HBI?

A:-BanROSI
B:-30neHdss
C:-e90230833
D:-ene¥@Eodes

Correct Answer:- Option-D

Question81:-Random access memories in which data words are permanently
written during fabrication are known as
m&i}%eéa‘ AR00BE) Beeso w3 mfgb m%émﬂ WT030R BeoBRI® e337° 230300 DO

SaeRRIZS

A:-RAM
B:-ROM

C:-Serial access memory
200300 eaﬁN,u—s 230300

D:-None of these
AR)NFYD 0300FBR AY
Correct Answer:- Option-B
Question82:-Which among the following is not an input device?
FYNVBIHNFD 00RO BD° R)e3° PVIY?
A:-Joystick
30T
[
B:-Scanner
m”aioe
C:-Plotter
RACe30°

D:-Mouse
R99%°

Correct Answer:- Option-C

Question83:-Choose the statement that describe super computers
RRIB0E 600—@%&306 mfﬁb DIVROI ée@?ﬁojogo 302

A:-Has the highest processing speed at a given time for solving scientific and
engineering problems
3, 5oT B0B)> RoZdeaddoN? 3m§m;‘§o Filertex{ V) &’)&F§ RIblevb alY) éz&zf\i 5o§dm a"erﬁwﬁb



BP0

B:-They are designed to maximize numbers of floating point operations per
second
ORI FRCL30NE Ho0W0E® BSHTVeRD® NY 30&3603@3 ﬁ@‘-’%\me’?ﬁw @@ﬁ%ﬁb &mg&rifa%mﬁd

C:-Its processing speed lies in range 400-10000MFLOPS
¥@T 305’;6501) Senssy) 400-10000MFLOPS maéobg?d

D:-All of these
RSN

Correct Answer:- Option-D
Question84:-Identify the service of an operating system
es53eedon® 2308 ﬁedodogo ROC08%

A:-Information management
RANVREOY myegow

B:-Process management
HR I InmEegioes®

C:-Memory management
0300 maﬁeg‘ioés‘

D:-All of these
RSN
Correct Answer:- Option-D

Question85:-What is true about EBCDIC code?
EBCDIC $0ca® 'wrj\&)zsdcab

A:-lt is a 7-bit alphanumeric code
QWo 7-De3® eagag&faﬁoas" BRCE® NI

B:-It is an 8-bit alphanumeric code
¥R 8-e3¢ esgagﬂado@ss BRCE® N3

C:-It is an 16-bit alphanumeric code
¥R 16-De3° eagagmdobﬁs BRCE® N3

D:-None of these
AR)NFYD 0300F)BR AY
Correct Answer:- Option-B

Question86:-Which function key is used to open the help window in MS word
document?
MS St caagodoow' 89 BO°, é:)ocafacsgp 380300 03ves POz 8cod3§3 WYRNIST?

A:-F1
B:-F2
C:-F11



D:-F12
Correct Answer:- Option-A

Question87:-Gutter Margin in MS word is
MS Jwfe 3¢ re3o® Soeeden® esNes

A:-Margin added to the outside of the page when printing
BB o FreBOPN P& &/adzparﬁé6 £9023) FeORIOZT

B:-Margin added to the binding side of page when printing
0033 €0 IO e 2,0B0n° VT 0edd DRI

C:-Margin added to right margin when printing
RB0T€9 BIBITAN O 90T 9023 ZeDILNIIT

D:-Margin added to the left margin when printing
B00B €0 BBV E 90207 FEDRRMIIT

Correct Answer:- Option-B

Question88:-Which among the following is not a function in MS Excel?
8% IFNSIHNTY 0dekBo MS-Excel 3@ 5o0doemoNe)

A:-AVG
B:-MIN
C:-MAX
D:-SUM
Correct Answer:- Option-A

Question89:-In which tab of MS Exel "Print Titles" option is available?
MS Excel & odsos3 59p3° BQ "oes® edeser risd" 03000 02,,2553)63

A:-Insert
‘agés“s-‘

B:-Page layout
2023 3ees®

C:-View
R

D:-Home
BSCO

Correct Answer:- Option-B
Question90:-Which among the following is not a type of view in MS-Power Point?
8% FINSIHNYY 03003B0 MS-BS0° 50090083° B 2,0830 Dedodd zgfa?seagg?

A:-Slide sorter
(;%CSG J9e3€0°F

B:-Notes page
aifaeé.sfvﬁease



C:-Slide master
2,03° :mgos

&

D:-None of these
AYNYY 0B 9L
Correct Answer:- Option-D

Question91:-Select the Object Oriented Programming feature referred to as an "is-
a" relationship
"is-a" @0w 07 20m) euefesdBenn eseS L.00800e3E° FEenyodoont He2scFo 308y, BRE.

A:-Polymorphism
DI TODE T3T®

B:-Data Abstraction
ENACRCME DY oM

C:-Inheritance
'26(9&3056

D:-Dynamic Binding
BB 2JoBon’
Correct Answer:- Option-C

Question92:-Identify the valid statement in C++ to declare an array which stores
10 integers
10 @amvoﬁﬁ@e’go 20N &R uodoéeeﬁodogb ez C++ 39 mgm éee.?ﬁodoﬁb

noCL32%
A:-int array [10]
B:-int array (10)
C:-int array ()
D:-intarray [ ]
Correct Answer:- Option-A

Question93:-What is true about events in VB.NET?
VB.NET 39S ss:083¢ N u@ QTSCRO?

A:-Events are triggered through user interaction
WYEWITT FOBHIT ST B1:5085° NI FedeBTn I

B:-Events are triggered by an object
Ts3083° mfﬁb VALV e AR AVONARISLIg VA

C:-Events are triggered by the operating system
esoee3ont 2@355 Q03 T83083° m@o SRRV ARISRIgVE

D:-All of these
RSN

Correct Answer:- Option-D



Question94:-Which among the following is not a data type in VB.NET?
BINSI)NYY 0dooyymo VB.NET 89 Beeso £3903Q

A:-Char
2390°

B:-Date
Beess

C:-Int
Q0&3°

D:-String
é’%’on‘
Correct Answer:- Option-C

Question95:-What is used to link two tables of database?
deesarden’ Q0B 3eFBNYRL D07 IRELL DI WIRNIZT

A:-Foreign key
FoOCR® ¢

B:-Primary key
=00 3e

C:-Candidate key
TIORTECEI® B¢

D:-Super key
ARR0E &
Correct Answer:- Option-A

Question96:-Which among the following is not a DML command in SQL?
FYNBIHNFY 03030 SQL 8D DML 53500%° 99

A:-CREATE
B:-SELECT
C:-DELETE
D:-UPDATE
Correct Answer:- Option-A

Question97:-Which among the following is not an aggregate function in SQL?
8 FYNTBINYY adoo3m0 SQLBY wedd 50deIY?

A:-SUM

B:-MIN

C:-PDT

D:-MAX

Correct Answer:- Option-C

Question98:-Identify web browser among the following



FINTIHYNYY 3e0° 2JOR0° eﬂﬁb noso8%

A:-Google form
RN FoRote

B:-Microsoft edge
Sbp e,

C:-DuckDuckGo
BT BT e

D:-Internet Archive
QoE3E &3¢ eséds'as
Correct Answer:- Option-B

Question99:-Select the HTML code to include hyperlink to the page
"www.google.com"
@wﬁﬁ BH0° Joz® Zedzew HTML Bees® e9§o eaob& S508 "www.google.com”

A:-<a type ="https://www.google.com ">Google</a>

B:-None of these
A)NYY 0350ZB0 9

C:-<a src ="https://www.google.com ">Google</a>

D:-<a href ="https://www.google.com ">Google</a>

Correct Answer:- Option-D

Question100:-Which method in javascript opens a dialog window in which it
displays its string parameter, along with two buttons, OK and Cancel?
@G oan® Dordeeagh B0 20EZ0N HDeLeEs0* Bt} OK &8> CANCEL ésa® rish

Y3, @wgp 330300 (AEORET) ¢ adress é’)tpawdga &R 03 eNZOINT.
A:-prompt
RO,
B:-input
QAROEI®
[N
C:-confirm
TOPORIE

D:-none of these
AR)NYY 0350FBR 9

Correct Answer:- Option-C



